Interaction picture

$$\hat{H}(t) = \hat{H}_{0} + \hat{V}(t) \qquad \hat{O} \quad \text{operator}$$

$$\hat{H}_{0}t/\hat{h} \quad \hat{V}_{1} = \hat{e} \quad \hat{V} \quad \hat{e} \quad \hat{H}_{0}t/\hat{h} \quad \hat{O}_{1} = \hat{e} \quad \hat{H}_{0}t/\hat{h} \quad \hat{O}_{1} = \hat{e} \quad \hat{O} \quad \hat{e} \quad \hat{e} \quad \hat{O}_{1} = \hat{e} \quad \hat{O} \quad \hat{e} \quad \hat$$

3 level system

Consider a system with every levels two, two, two.

Free t-evolution
$$it \frac{H_0}{t_a} = \begin{pmatrix} e^{it}wa & 0 & 0\\ 0 & e^{iwbt} & 0\\ 0 & 0 & e^{iwet} \end{pmatrix}$$

The perturbation is, in the Ho-eigenstates basis:

$$V(t) = \begin{pmatrix} 0 & \frac{1}{2}e^{iW_{ab}} & \frac{1}{2}e^{iW_{ab}} \\ \frac{1}{2}e^{iW_{ab}} & 0 & 0 \\ \frac{1}{2}e^{iW_{ab}} & 0 & 0 \\ \frac{1}{2}e^{iW_{ac}} & 0 & 0 \end{pmatrix}$$

with Wab, Wac real.
In the interaction problem

$$V_{I}(t) = U_{0}^{\dagger}(t) V(t) U_{0}(t) = \begin{pmatrix} 0 \times 7 \\ x^{*} & 0 \\ y^{*} & 0 \end{pmatrix}$$
with

$$X = \frac{1}{2} Wab e^{i\delta_{1}t}, \quad Y = \frac{1}{2} Wac e^{i\delta_{2}t} \qquad S_{1} = (Wa - Wb) - W_{1} = Wab - W_{1}$$
The state in interaction picture at time t is
$$I\Psi(b) = O_{0}^{\dagger}(t) I\Psi(b) S$$
The general $I\Psi(t) > T = O_{0}^{\dagger}(t) I\Psi(b) S$
The general $I\Psi(t) > T = O_{0}^{\dagger}(t) I\Psi(b) S$
and we have seen in class that
$$it_{1} = O_{0}^{\dagger}(t) = \sum_{m} V_{m}(t) e^{iW_{1}m} C_{m}(t)$$

For our problem:

For our problem:

$$\begin{cases}
it \frac{da(t)}{dt} = \frac{1}{2} \text{ Wab e b(t)} + \frac{1}{2} \text{ Wac e c(t)} \\
it \frac{db(t)}{dt} = \frac{1}{2} \text{ Wab e} \\
it \frac{de(t)}{dt} = \frac{1}{2} \text{ Wac e a(t)}
\end{cases}$$

assume:
$$i(-\Omega - \delta_{1})t$$

 $b(t) = b(0)e$
 $a(t) = a(0)e^{i-\Omega t}$
 $\frac{1}{\sqrt{2}}$
 $f = t_{-\Omega} R(0) = \frac{1}{2} Wab b(0) + \frac{1}{2} Wac c(0)$
 $-t_{-\Omega} - \delta_{1})b(0) = \frac{1}{2} Wab A(0)$
 $-t_{-\Omega} - \delta_{2})c(0) = \frac{1}{2} Wac A(0)$

This equation is difficult to solve.

Assume perfect tuning, SI = 82=0

multiply:

$$+ \frac{1}{2} \int_{-\infty}^{2} \frac{A(0)B(0)C(0)}{A(0)B(0)C(0)} = \left(\frac{1}{2}\right)^{3} W_{ab} W_{ac} \qquad A(0) (W_{ab} B(0)) + W_{ac} C(0) \right)$$

$$+ W_{ac} C(0) \right)$$

$$= \left(\frac{1}{2}\right)^{2} (-\frac{1}{2}) - 2 \left(W_{ab}^{2} \frac{A(0)B(0)C(0)}{B(0)C(0)} + W_{ac}^{2} \frac{A(0)B(0)C(0)}{B(0)C(0)}\right)$$

$$\begin{bmatrix} t^{2} - \Omega^{2} = \left(\frac{\pi}{2}\right)^{2} (W^{2} ab + W^{2} ac) - \Omega \\ Three solutions \\ -\Lambda = 0 , -\Omega = \pm V , where r = \sqrt{\left(\frac{Wab}{2t_{1}}\right)^{2} + \left(\frac{Wac}{2t_{1}}\right)^{2}} \\ J_{2} \text{ hot forget this} \end{bmatrix}$$

We can write a general solution as superposition

$$\begin{cases}
a(t) = a_0 + a_+e^{irt} + a_-e^{irt} \\
b(t) = b_0 + b_+e^{irt} + b_-e^{-irt} \\
c(t+) = c_0 + c_+e^{irt} + c_-e^{-irt}
\end{cases}$$

Eq I should actually be three eqs., that need to be solved independently (they must hold $\forall t$) Let's fix (a,b,c)o,t,- $\boxed{2=0}I = \sum_{i=1}^{n} \int_{0}^{0} = \frac{1}{2} Wab bo + \frac{1}{2} Wac co = Wab bo = - Wac co$ $0 = a_0$

For later convenience, we normalize the vectors separately

$$\begin{pmatrix} 0 & 0 \\ b & 0 \\ c & 0 \end{pmatrix} = \begin{pmatrix} 0 \\ Wae/2tr \\ Wab/2tr \end{pmatrix}$$

$$\begin{bmatrix} -2 & -1 \\ -1$$

$$\begin{pmatrix} a_{+} \\ b_{+} \\ c_{+} \end{pmatrix} = \frac{1}{\sqrt{2}} \begin{pmatrix} -\frac{Wab}{2hr} \\ -\frac{Wab}{2hr} \\ -\frac{Wae}{2hr} \end{pmatrix}$$

$$2 = -r$$
 some algebra
$$\begin{pmatrix} a_{-} \\ b_{-} \\ c_{-} \end{pmatrix} = \frac{1}{\sqrt{2}} \begin{pmatrix} \underline{M}ab \\ \underline{2}br \\ \underline{N}ac \\ \underline{A}br \end{pmatrix}$$

Ne can write the general solution as

$$\begin{pmatrix} a(t) \\ b(t) \\ e(t) \end{pmatrix} = \alpha_0 \begin{pmatrix} a_0 \\ b_0 \\ c_0 \end{pmatrix} + \kappa_1 \begin{pmatrix} a_1 \\ b_+ \\ c_+ \end{pmatrix} e^{irt} \\ \kappa_2 \begin{pmatrix} a_- \\ b_- \\ c_- \end{pmatrix} e^{-irt}$$

with the coeff. just determined.

At
$$t=0$$

$$\begin{cases} \alpha(0) = \frac{1}{\sqrt{2}} (\alpha + \alpha) \\ b(0) = \frac{Wac}{2tr} \alpha_{0} - \frac{Wab}{2\sqrt{2}tr} \alpha_{+} + \frac{Wab}{2\sqrt{2}tr} \alpha_{-} \\ c(0) = \frac{Wab}{2tr} \alpha_{0} - \frac{Wac}{2\sqrt{2}tr} \alpha_{+} + \frac{Wac}{2\sqrt{2}tr} \alpha_{-} \end{cases}$$

Drack STATES
E A

$$\frac{2}{2} \rightarrow inpose Ec \times Eb$$
 and Wob = Wac
 $-interaction$ connects $\alpha < backson = -c$
 $-Eb \sim Ec$
 $-Wab = Wac$ some intensity
let's take a linear continuation of 1b) and 1c> state
in "equipel" superposition
 $|\Psi(0)\rangle = \frac{4}{\sqrt{2}}(1b) - 1c\rangle \Rightarrow \alpha(0) = 0$
 $b(0) = -c(0) = \frac{4}{\sqrt{2}}$
Solving for $(\alpha_0, \alpha_1, \alpha_2)$
 $\alpha_0 = \frac{W}{2\sqrt{2}} \frac{ab}{br} + \frac{W}{ac} = \frac{Wab}{\sqrt{2}br}$
 $\alpha_1 + \alpha_2 = 0 = 0$ $\frac{A(t)}{2\sqrt{2}} = 0$ $\frac{1}{\sqrt{2}}$ $\frac{1}{\sqrt{2}}$ is not an acceptible
Reason is that the probability of jumping from $b - 2\alpha$
 $ar c - 2\alpha$ interfere destanctively
 $|\alpha\rangle$ is α dark state

Electromagnetically induced transparenegy
Suppose now that (a) and (b) are strongly completed, while (a) and
IC> are weakly coupled. |Wab| >>|Wac|
Take
$$a(0) = b(0) = 0 \implies (\alpha - -\alpha + (\alpha - \alpha)) = 1 \qquad (\alpha + -\alpha) = (\alpha - \alpha) = 1 \qquad (\alpha + -\alpha) = (\alpha - \alpha) = 1 \qquad (\alpha + -\alpha) =$$

state (a) connot be excited by photons of that frequency

Second order coefficients

$$i b \frac{\partial}{\partial t} U_{T}(t, t_{0}) = \sqrt{r} (t, t_{0}) U_{T}(t, t_{0})$$
Formal solution $U_{T}(t, t_{0}) = \pi - \frac{\lambda}{h} \int_{t_{0}}^{t} dt^{2} \sqrt{r}(t^{2}) W_{T}(t^{2}, t_{0})$

$$M_{T}(t, t_{0}) = M_{T}^{(0)}(t, t_{0}) + M_{T}^{(1)}(t, t_{0}) + M_{T}^{(2)}(t, t_{0}) + \cdots$$

$$M_{T}^{(0)}(t, t_{0}) = \pi - (Drop \nabla r(t))$$

$$M_{T}^{(1)}(t, t_{0}) + M_{T}^{(1)}(t, t_{0}) + M_{T}^{(1)}(t, t_{0}) + \cdots$$

$$= \pi - \frac{\lambda}{h} \int_{t_{0}}^{t} dt^{2} \nabla r(t^{1}) (M_{T}^{(0)}(t, t_{0}) + M_{T}^{(1)}(t, t_{0}) + M_{T}^{(1)}(t, t_{0}) + \cdots)$$

$$= \pi - \frac{\lambda}{h} \int_{t_{0}}^{t} dt^{2} \nabla r(t^{1}) - \frac{\lambda}{t} \int_{t_{0}}^{t} dt^{2} \nabla r(t^{1}) M_{T}^{(1)}(t, t_{0}) + O(\nabla_{T}^{3})$$
comparing =) $M_{T}^{(1)}(t, t_{0}) = -\frac{\lambda}{h} \int_{t_{0}}^{t} dt^{2} \nabla r(t^{1})$
and inserting back

$$r_{T}(t, t_{0}) = (-\frac{\lambda}{h})^{2} \int_{t_{0}}^{t} \int_{t_{0}}^{t} dt^{2} \nabla r(t^{1}) \nabla r(t^{11})$$

$$cf(t) = C_{f}^{(9)} + C_{f}^{(1)} + C_{f}^{(2)} + \cdots$$

$$\int \langle f|M_{T}(t, t_{0})|_{U} \rangle = -\frac{\lambda}{h} \int_{t_{0}}^{t} dt^{2} e^{-\frac{\lambda}{h}} \int_{t_{0}}^{t} (E_{F}-E_{0})t^{1}$$

$$+ -\frac{\lambda}{h} \int_{t_{0}}^{t} dt^{1} \nabla r(t^{1})) t^{1} \rangle = -\frac{\lambda}{h} \int_{t_{0}}^{t} dt^{2} e^{-\frac{\lambda}{h}} \int_{t_{0}}^{t} (E_{F}-E_{0})t^{1}$$

$$= (-\frac{\lambda}{h})^{2} \int_{t_{0}}^{t} dt^{1} \langle f| \nabla r(t^{1}) \rangle \nabla r(t^{1}) \langle f| \rangle |_{U} \rangle = -\frac{\lambda}{h} \int_{t_{0}}^{t} dt^{1} e^{-\frac{\lambda}{h}} \int_{t_{0}}^{t} (E_{F}-E_{0})t^{1}$$

$$= \left(-\frac{\pi}{h}\right)^{2} \int_{t_{0}}^{t} \int_{t_{0}}^{t'} \int_{t_{0}}^{t'} \sum_{n} \langle f/V_{\pm}(t')|\dot{\eta}\rangle \langle n|V_{\pm}(t'')|i\rangle =$$

$$= \left(-\frac{\pi}{h}\right)^{2} \sum_{n} \int_{dt'}^{t} \int_{dt'}^{t'} \int_{dt''}^{t'} e^{i\omega_{fn}t'} e^{-i\omega_{n}t''} \langle f/V(t')|u\rangle \langle n|V(t'')|i\rangle$$

Two level system in perturbation theory

$$H_{0} = E_{1} |1\rangle \langle d| + E_{2} |2\rangle \langle 2|$$

$$V(t) = \delta e^{i\omega t} |d\rangle \langle 2| + \delta e^{-i\omega t} |2\rangle \langle 2|$$

$$C_{n}^{(1)}(t) = -\frac{i}{t_{1}} \int_{t_{0}}^{t} dt' \langle u| V_{\mp}(t') |i\rangle = -\frac{i}{t_{1}} \int_{t_{0}}^{t} dt' e^{i\omega_{ni}t'} V_{ni}|t\rangle$$

$$C_{n}^{(2)}(t) = (-\frac{i}{t_{1}})^{2} \sum_{m} \int_{t_{0}}^{t} dt' \int_{t_{0}}^{t'} e^{i\omega_{nm}t'} e^{i\omega_{mi}t''} V_{um}|t'| V_{un}|t'')$$

 $E_1 = t_W$, $E_2 = t_W$

$$V_{11} = \sqrt{22} = 0$$
 $\sqrt{12} = \sqrt{e^2}$ $\sqrt{21} = \sqrt{e^2}$
At t=0, state (4)

$$C_{A}^{(1)}(t) = 0 \qquad \text{I} \quad ORDER \qquad \frac{1}{\mu}$$

$$C_{A}^{(2)}(t) = (-\frac{1}{\mu})^{2} \int dt^{1} \int dt^{n} \int dt^{n} e \qquad e \qquad \forall 2e \qquad e \qquad e^{-\mu} = e^{-\mu}$$

$$= (-\frac{1}{\mu})^{2} \sqrt{dt^{n}} \int dt^{n} \int dt^{n} e \qquad e^{-\mu} = e^{-\mu} =$$

notice that only even coefficient of the perturbative series are non zero for $C_{1}^{(n)}(t)$.

$$C_{\mathbf{z}}^{(n)}(t) = -\frac{1}{h} \int_{0}^{t} b^{n} e^{i(\mathbf{w}_{2},t)} \quad \forall e^{i(\mathbf{w}_{2},t)} \quad \forall e^{i(\mathbf{w}_{2},t)} = \frac{-it((\mathbf{w} \cdot \mathbf{w}_{2},1))}{(\mathbf{w} \cdot \mathbf{w}_{2},1)} \quad \exists \text{ ORDER}$$

$$C_{\mathbf{z}}^{(n)}(t) = 0 \quad \exists \text{ ORDER}$$

$$0ully \quad odd \quad coellicient \quad are \quad non \quad 2err \quad for \quad C_{\mathbf{z}}^{(n)}(b) \quad \\\beta_{\mathbf{z}}(t) = \left[C_{\mathbf{z}}^{(n)} + C_{\mathbf{z}}^{(n)}\right]^{2} = \frac{\pi^{2}}{h^{n}} \frac{2\left(4-cos((\mathbf{w} \cdot \mathbf{w}_{2}),t)\right)}{((\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} = \frac{4\overline{\sigma}^{2}/t^{2}}{((\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} \operatorname{surl}\left(\left(\frac{\mathbf{w}\cdot\mathbf{w}_{2}}{2}\right)\right)$$

$$P_{\mathbf{z}}(t) = \left[C_{\mathbf{z}}^{(n)} + C_{\mathbf{z}}^{(n)}\right]^{2} = \frac{\pi^{2}}{h^{n}} \frac{2\left(4-cos((\mathbf{w} \cdot \mathbf{w}_{2}),t)\right)}{((\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} = \frac{4\overline{\sigma}^{2}/t^{2}}{(\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} \operatorname{surl}\left(\left(\frac{\mathbf{w}\cdot\mathbf{w}_{2}}{2}\right)\right)$$

$$P_{\mathbf{z}}(t) = \left[C_{\mathbf{z}}^{(n)} + C_{\mathbf{z}}^{(n)}\right]^{2} = \frac{\pi^{2}}{h^{n}} \frac{2\left(4-cos((\mathbf{w} \cdot \mathbf{w}_{2}),t)\right)}{((\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} = \frac{4\overline{\sigma}^{2}/t^{2}}{(\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} \operatorname{surl}\left(\left(\frac{\mathbf{w}\cdot\mathbf{w}_{2}}{2}\right)\right)$$

$$P_{\mathbf{z}}(t) = \left[C_{\mathbf{z}}^{(n)} + C_{\mathbf{z}}^{(n)}\right]^{2} = \frac{\pi^{2}}{h^{n}} \frac{2\left(4-cos((\mathbf{w} \cdot \mathbf{w}_{2},1)\right)}{(\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} = \frac{4\overline{\sigma}^{2}/t^{2}}{(\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} \operatorname{surl}\left(\left(\frac{\mathbf{w}\cdot\mathbf{w}_{2}}{2}\right)\right)$$

$$P_{\mathbf{z}}(t) = \left[C_{\mathbf{z}}^{(n)} + C_{\mathbf{z}}^{(n)}\right]^{2} = \frac{\pi^{2}}{h^{n}} \frac{2\left(4-cos((\mathbf{w} \cdot \mathbf{w}_{2},1)\right)}{(\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}} = \frac{\pi^{2}}{h^{n}} \operatorname{c}^{(n)} + C_{\mathbf{z}}^{(n)}\right]$$

$$P_{\mathbf{z}}(t) = 4-\frac{P_{\mathbf{z}}(t)}{(2\pi^{2}-1)} = \frac{1}{h^{n}} \operatorname{c}^{(n)} + C_{\mathbf{z}}^{(n)}\right]$$

$$P_{\mathbf{z}}(t) = 4-\frac{P_{\mathbf{z}}(t)}{h^{n}} = \frac{1}{h^{n}} \operatorname{c}^{(n)} + C_{\mathbf{z}}^{(n)}\right] = 4-\frac{4\overline{\sigma}^{2}/t^{2}}{h^{n}}} \operatorname{surl}\left(\frac{(\mathbf{w} \cdot \mathbf{w}_{2},1)}{(\mathbf{w} \cdot \mathbf{w}_{2},1)^{2}}\right)$$

$$P_{\mathbf{z}}(t) = \frac{\pi^{2}}{h^{n}} = \frac{\pi^{2}}{h^{n}} \left(4-cos\left(t(\mathbf{w} \cdot \mathbf{w}_{2},1)\right)\right) = 4-\frac{4\overline{\sigma}^{2}/t^{2}}{h^{n}}} \operatorname{surl}\left(\frac{(\mathbf{w} \cdot \mathbf{w}_{2},1)}{h^{n}}\right)$$

$$Corverset = t with P_{\mathbf{z}}(t) \quad \forall$$

let's focus on
$$P_{2}(t)$$

 $P_{2}(t) = \frac{4 \sigma^{2}/t^{2}}{(W_{21} - W)^{2}} \sin^{2} \left(\frac{W - W_{21}}{2} t \right)$
For W very different from W_{21} Pa(t) and where $P_{2}(t)$ and $P_{2}(t)$ and $P_{2}(t)$ and $P_{2}(t)$ and $P_{2}(t) = \frac{1}{(W_{21} - W)^{2}}$.
For $W \wedge W_{12}$
 $P_{2}(t) \sim \frac{y^{2}t^{2}}{t^{2}}$ and ofter some time $P_{2}(t) > 4$.
The class we computed $P_{2}(t)$ exactly (Pabli Formula)
 $P_{2}(t) = \frac{y^{2}/t^{2}}{y^{2}/t^{2} + (\frac{W - W_{21}}{2})^{1}}$ $\sin^{2}(\sqrt{\frac{y^{2}}{t^{2}} + (\frac{W - W_{21}}{2})^{2}}t)$
which, if expanded to second order in Y gives $P_{2}(t)$ as computed
in perturbation theory.
The the vasuant case: $P_{2}(t) \simeq \sin^{2}(\frac{y}{t} t)$ which does not
grow as t .
but shows you that the perturbative calculation cannot
but yours do that the perturbative calculation cannot